WE_Unit 2_Review Calculus AB

1. For the graphs in the accompanying ﬁguu ’
' match the position functions (a) to (c¢) with their
corresponding velocity functions (I) to (I1I).
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Use the graph of y = f(x) in the accompany'ing figure to
estimate the value of f'(1), f'(3), f'(5), and f'(6).
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For the function graphed in the accompanying figure, arrange
the numbers 0, f'(—3), f'(0). f'(2), and f'(4) in increasing

order. D
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4. Sketch the graph of the derivative function for
each function below.
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at the point (2,5) has the equation y = 3x — 1, find
F@- £ay=3

For this function, what is the instantaneous rate of
change of y with respect tox atx = 2 ?
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Given that the tangent line to the graph of y = f(x)

6. Sketch the graph of a functions f for which
f(0) =-1, f'(0) =0,
f'(x)<0ifx<0andf’(x)>0ifx>0
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7. Given that f(3) = —1and f'(3) =5.

y=f(x)atx=3.

Find an equation for the tangent line to the graph of
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8. .Given that the tangent line to y = f(x) at the
point (1, 2) passes through the point (3,5).
Find f'(1).
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Calculator is Permitted for the problem below.

13. A particle moves along a horizontal line so that its position at any time t = 0 is given by the function
s(t) = —t3 + 8t? — 10t + 7 where s is measured in meters and t is measured in seconds.

a. Find the particle’s instantaneous velocity at any
time t.

V&)= ') = -3 E+16t-10

b. Find the particle’s acceleration at any time t.

ale) =vE) =2"(t) @

¢. When is the particle at rest? Justify your answer.
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aﬂt 4,610 sec

d. Find the displacement of the particle from
t = 0sectot = 5sec. Show set up.

B8(5)-a(0)
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e. Find the total distance the particle traveled from
t = 0 sec to t = 5 sec. Show set up.

\ o(.7as)-¢(o)| +| 2 (4,6 10y=a (123

+ | 8(s)-2(46 )|

= 23 849 po

f. What is the particle’s speed at 7 seconds?
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g. When is the particle’s speed decreasing?
Justify your answer.
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Whim V(X) and alxy hace

(0,733 sec. . (abs7 6 610)
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